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VOCABULARY

Division Algorithm for Polynomials - Divide polynomial
P(x) by polynomial D(x) to get polynomial quotient Q(x)
and polynomial remainder R(x).

The resultis P(x) = D(x)Q(x) + R(x). If R(x) = 0, then
Ax) = D(x)Q(x) and D(x) and Q(x) are factors of P(x).

Synthetic division - the process for dividing a polynomial by
a linear expression x - a. A polynomial must be in standard
form. By omitting all variables and exponents

Remainder Theorem - If you divide a polynomial P(x) of
degree n = 1 by x - g, then the remainder is P(a).
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| EX #3: Use polynomial long division to divide .
| 3x2— 29x + 56 by x — 7. What s the quotient and |
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1. Write polynomial in standard form, include
zeros for missing powers of x.

2. Omit all variables and exponents.

3. For the divisor, reverse the sign, use a.

4. Add instead of subtract throughout.

EX #6: Divide x> — 57x + 56 b 0 What is the
quotient and remainder?
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